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QUESTION 1

You establish a new Web browser connection to Google. Since a 3-way handshake is required for any TCP connection,
the following actions will take place. 

Which of the following packets represent completion of the 3-way handshake? 

A. 4th packet 

B. 3rdpacket 

C. 6th packet 

D. 5th packet 

Correct Answer: D 

 

QUESTION 2

Latest 312-50V7 Dumps | 312-50V7 PDF Dumps | 312-50V7 Braindumps                                2 / 4

https://www.pass2lead.com/312-50v7.html
https://www.pass2lead.com/312-50v7.html
https://www.pass2lead.com/312-50v7.html


https://www.pass2lead.com/312-50v7.html
2024 Latest pass2lead 312-50V7 PDF and VCE dumps Download

A person approaches a network administrator and wants advice on how to send encrypted email from home. The end
user does not want to have to pay for any license fees or manage server services. Which of the following is the most
secure encryption protocol that the network administrator should recommend? 

A. IP Security (IPSEC) 

B. Multipurpose Internet Mail Extensions (MIME) 

C. Pretty Good Privacy (PGP) 

D. Hyper Text Transfer Protocol with Secure Socket Layer (HTTPS) 

Correct Answer: C 

 

QUESTION 3

This type of Port Scanning technique splits TCP header into several packets so that the packet filters are not able to
detect what the packets intends to do. 

A. UDP Scanning 

B. IP Fragment Scanning 

C. Inverse TCP flag scanning 

D. ACK flag scanning 

Correct Answer: B 

 

QUESTION 4

An attacker has captured a target file that is encrypted with public key cryptography. Which of the attacks below is likely
to be used to crack the target file? 

A. Timing attack 

B. Replay attack 

C. Memory trade-off attack 

D. Chosen plain-text attack 

Correct Answer: D 

 

QUESTION 5

Smart cards use which protocol to transfer the certificate in a secure manner? 

A. Extensible Authentication Protocol (EAP) 

B. Point to Point Protocol (PPP) 
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C. Point to Point Tunneling Protocol (PPTP) 

D. Layer 2 Tunneling Protocol (L2TP) 

Correct Answer: A 
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